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Passage:

et relifaied Tt ufdar uurl faseuaeava: Sfidady S far fagal

YRe s TdaeEe FSHuse SRRl WSS URAAH SfmHadEHRi Ty e 2019 ARG 22 90 AR 9 2.43 96 SeRedigrn: 9oy Yo sRvIemR-sTd 95 11 W4T THRe | 31
fal wRa: dds: aftfarig arsfe wmrafvar 1 9a: ud oo O 15 af g T amE P ol | R ocd SiRieRied Sy 9: €8 Soa: et v | g9 weifadst o Rlteg S o
T 3 A SRAISTINCS W URAAd M =1 YHOMTE aFIq S RIies JaasnHad|

Q.No: 1 F5gF| 11 TUE G a8 TARST ?

A 2020
B 2019
C 1990
D 2004

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:
- AARET T e Uai fasearere ea: Ifrdaay I R Rraai

YRe fedoasrdaeumen Teavst SRgeIq| 6 9 YR fmFaseaRii T3 Sem:| 2019 SRR 22 9 AR 9T 2.43 e dieRadigmr: Gy dar sRsmd-<I 9= 11 GamT SHRET | 31
fort wRa: Tiid: affamiid arsfer TArafay | aa: 9d Sur AR 15 aW ey TR I P ol | g 9Med SRNIETRed FuE iw: TY: Ta: AT RIFER | g eifadst o e e o
TS 3 TG SRAHRINCSH W YRAAd Ffd a1 YAomI g sfexeRites Gaaaad)

Q.No: 2 TZHUST AIURR] WUHG: Hal HRfl?
A 1979 IR 24 T g

B 1969 ARG 21 T faTg

c 2009 R 11 T

D 1989 YOI 12 T R
Correct Ans : B

Subject : Sanskrit Bhasha 02

Passage:
Wepe:— Srefafe TR ufSwar T faseararmRea: Ifaaay Sw e fraa)

YR iU deore I5avST SRYRIq| a0 HRAFT STHFaHanRiq T 3em:| 2019 SR 22 T A 97 2.43 9 AeRa®iEan: Ty 4o SReRIe-siq 954 11 9amET SARST | 31
R T Wi aftfardig T wrrafvar | aa: od S o 15 ah Ry g o P s | R 9l aRNieRited Sy A T ga: R wiffen | gH: ureifeds o e G s
T 3 TG SIERINed e YRAd (i 91 yrvmEr g siReRded gaasad|

Q.No: 3 TFsfe Fa Hafa?

A PR 12
B TS 21
C ey 25
D 07 06

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage: Page = 1
Aba— srfaRae e ufdwr yym fasammg: IRy SW A figa)

URd fedresrdaaumen TsHuee SRRl WS u URATHT M FHR T8 e 2019 SARANR 22 90 G U 2.43 a6 SieRedmigmn: Gy dar SRRIemRb-Iq 95 11 s SHRST | o1
et TR S affamiie TR SAraian | aq: o S A 15 9 R asarer am PR ol | Reg 9o SRS $UH QW € 3da: [RAT0 'R | §F: seiiiew g Rded e e
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Tl iy Wewry, | TR IOV WV VIV OAUTE IO VVITH IV § el WV Y VIV WLV IOT § e TV S = AN VGELTWLIET TGV SV TRV LI AN

A 3 A SRS Wekd HRaAd FHd =1 YAvHIGId FI SftaeTiied gedeivad|

Q.No: 4 TaVeYmAaRaIcHugaH - TBI ferad|

A 1615
B 2019
Cc 1969
D 2009

Correct Ans : C
Subject : Sanskrit Bhasha 02

Passage:

Tha:— i maixt ufd@r mami R arae va: Sfuaaes S fr il

R Rdiaarauddame T=AUSH SRy Gau HRAEHH sitmHadaHRid T IeH:| 2019 SRRy 22 78 g wrmg 2.43 a6 deResizran: Ty sam siRRem=ie a=am 11 [aEl GARe | <
Tt Trer: Wip: aftfamie Trsfes aumaiad | aa: gd Sar T 15 T AT TRam A PR ol | IR oo IRISTRed e Q: TF: 3aa: faduul RIFE | O ureifadst I AT e I
TS 3 G ARRIPRITES e YR i T1 YA T SRSTRIded YarrarHad |

Q.No: 5 fA&TuId W Bt FAma=R ¢ A 1 WHvAHREG?

A 1615
B 2019
Cc 1969
D 1867

Correct Ans : A
Subject : Sanskrit Bhasha 02

Passage:

Gha:— Sl meriRt ufs@r wami Riewere ava: Sfuaar s fw gl

R Fedleasuiaaumas TS SRRl GauT HRAEHH simmadaarRii T 3eH:1 2019 SErERRg 22 78 fRArg 9l 2.43 a6 feRasigran: Ty 4am aRRmerEs-<id a=am 1L $amEl GaRed | <
fodr waRa: <ip: aftfamiis arsfen wmrafay | 9a: d Sar AR 15 o fears T A A sl | Reg o SRR Sy g: €8 g PAguut R | g7: ureifadst g fter S I
T 3 A IRAGTNCS IR HRAd P o1 UHOTHTRI, I SRpTRIIeS HaaaiHad|

Q.No: 6 TH: Wid: A& FHMARTH - 3 fadwured fae

A Rl

B e

c A
D AR

Correct Ans : A
Subject : Sanskrit Bhasha 02

Passage:

Heha:— et Teriet ufsw@r Tyl fos e rvea: Jfaaaay S fw ol

R R rdaTraT T5Husd SRR T4 HRAMY simmadeai T 9e:| 2019 SR 22 T3 g 96 2.43 a6 SieRadigran: Ty Yar S aid 95 11 9 SaRa | §
faed T A aftfariid Srsfeet wraRer | aa: g o™ AR 15 98 oy I A R ol | R sFed SRRl ds Ha 4: T8 3a: fIaol Rifiar | g wretfadsRt ar e S IR
T 3 G ARSIV Jad YR Fidd 91 UHumTER I sfesRiied gaaarqad|

Q.No: 7 RRT - IR vewyd feraal

A TR + @
B T + IR
c T + 3R
D T + IR

Correct Ans : C
Subject : Sanskrit Bhasha 02

Passage:

e SENfOIRI TRt Uit vyl fasedrere ravea: Sfadany Iw e feraal
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FRET finimy WA, B RET WYY eV VAT IV WITTH IV T U WYHITV LY VLIV § = [TV T e § STl T TGNV S VTVl GV A

HRd fEdaasridaTras TsHvsd SRyl IdW HRARAM sitmradearii T Sem: | 2019 ARG 22 a9 T 9 2.43 a6 SieRadigrn: iy 4ar S Iq 9war 11 W §ARe | <
fooly Tma: idp: aftfardie arsfes qorafay | qa: gd S oo 15 T8 oAy Tsarg g Pt ol | wReg o SRNIeTRed Sy g: T 3 fadut ey | g ueifdsi o e e g

A 3 TG RIS TRICe YRt YR Fffd 1 YHOHIEI AT SfeRieTeiee: HereHa |

Q.No: 8 3ffeeT TRfiq T AT | 37 TPR: F:?

A /@I
B Rl
c I
D dRl

Correct Ans : C
Subject : Sanskrit Bhasha 02

Passage:

G- eNforiad Teriel ufder wumi fareareree: Sfadary S firaal

Tk R Rafaat
= fReTaafy fa=mar |
Friiar sty e 2= T
g T atEa fRfgmfiam:

Q.No: 9 U= &: fqwdiaifa?

A TRIThR:
B =

C SICTER:
D s

Correct Ans : D
Subject : Sanskrit Bhasha 02

Passage:

G- N o=l ufdwr wumi RveareremoR: Ifidany S R fRraal

Tena R Ra=wdf
=1 fReraaft faamaTa |
Arafiar sSeruisi ste 27T
v T e et

Q.No: 10 ¥agwmard o: fasrmfd ?

A 'ﬁﬁ:

B T

[ q5

D [Egcadl

Correct Ans : C

Subject : Sanskrit Bhasha 02

Passage:

e SN wert ufsan nymi fAserraesa: Sfaqary Iw fwr frad|

Tk R Rafaat
= Reraafy fa=mare |
AT AT TSt St 2=_T
v T afEa fafgerta

QNo: 11 ser worer 7154 2
A A
B o
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FRET finimy WA, B RET WYY eV VAT IV WITTH IV T U WYHITV LY VLIV § = [TV T e § STl T TGNV S VTVl GV A

c qm:

D i

Correct Ans : A

Subject : Sanskrit Bhasha 02

Passage:

Hahd:—~ iR gent afsar wymi fAbearae med: Siadany Sw T fad|

Tena e Rawdi
=1 fReraafe faamare |
BISIBRIEEPRNEE C G
v T wRe Raamm:

Q.No: 12 & WY way siftEm: vafxy 2

A go:

B SHfreF:
C g

D q1g:

Correct Ans : C
Subject : Sanskrit Bhasha 02

Passage:

Hha:— ifRed geri=l ufd@r Ty Reaeem: Sfaaars S i kgl

T s R
=1 fReraaft faamaTe |
Arafiar seruis ste z7Tie
g T g Rfgafarm:

QNo: 13 e 2y wmy F1o2
A A
B Jo[-l:
C o
D IR

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

G- eNfriad g™l ufewn Tyt A earadaRed: Ifaaaes S T k|

wgaR fEme Redwdfr
=1 famraf da=wara |
Areaiar sSerusit se 22T
e @ gfga gt

Q.No: 14 fafgafaim:’ sa7 &: FfR%: ?

A Favidda:
B ey

c i

D TR

Correct Ans : A
Subject : Sanskrit Bhasha 02

Passage:

Gepa:— e geriel ufdwn vl fasarerere: Ifaaary S fr el
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FRET finimy WA, B RET WYY eV VAT IV WITTH IV T U WYHITV LY VLIV § = [TV T e § STl T TGNV S VTVl GV A

T e Rty
=1 fReraafe fe=amaT |
RUSIBRIECPRNEEC G G
T T afea Rfgertam:

Q.No: 15 feqas: &2
A G5

B SHTBTT:

c it

D w:

Correct Ans : D

Subject : Sanskrit Bhasha 02

Q.No: 16 favgiae ud fagd -

A yfedt
B wifaEt
c TERT
D 0T

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 17 3 fased fore -

A rgftresfa- furefa

B g el

o gty Soafa

b TRt R
Correct Ans : B

Subject : Sanskrit Bhasha 02

Q.No: 18 & qUiT IARVRIM FIgAR?
A TPRY

B TPRY
C PR
D THRY

Correct Ans : D
Subject : Sanskrit Bhasha 02

Q.No: 19 TURR®! Juf: AR~

A K
B T
c 7
D &

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 20 FHIEH Ug T-UG: AI?

A T
B dwm
c REi
D T

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 21 &tV FawifaxaR Trae i e
A ofosHt

B oSt
c Uiy
D gty

Correct Ans : B

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx

5/42
Page - 5



FRET finimy WA, B RET WYY eV VAT IV WITTH IV T U WYHITV LY VLIV § = [TV T e § STl T TGNV S VTVl GV A

Subject : Sanskrit Bhasha 02

Q.No: 22 Iegauw fauer 9 Rigr

A FHATTER fawanT Ta F FercaT
B TR ST
c TRIefF SMERIATEHT W SIAHHN STHRUEETY

D MfeTemaiq W fifaery
Correct Ans : A
Subject : Sanskrit Bhasha 02

Q.No: 23 Ja: &l H acih: TG aral A Az --

A ABET Ha UTT-Hffa-sHromd aRasrer i sk
B FdeT ST et AR

C Y g

D TAGH! AT Q@R RITTAf |

Correct Ans : A
Subject : Sanskrit Bhasha 02

Q.No: 24 ST TIAHTRIAL +.ovvvrviiviininns PR T -
A AR TR T Sifhar

B TP YHUA-TE TIAERUR

c HHA AT

D T SR ot

Correct Ans : A
Subject : Sanskrit Bhasha 02

Q.No: 25 faemerdtar HIRTEmFife: I™d----
A ERUEE RG]

B Ruemat wmesfa |
c HGHISTIRE-SgHTSaTE: 3
D PR 3fa

Correct Ans : D
Subject : Sanskrit Bhasha 02

Q.No: 26 TfHAUNHIIER (Process approach) FEfiREdy Fw Iudi: sRu@R Rigebr 7 fhaa?
A faIRARAH (Brainstorming)

B ﬁmﬁﬁ'@'-rr{ (Dictating Notes)

c URSUAEAH (Drafting)

D ?Wﬁ!ﬁf{ (Proof reading )

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 27 ufwgH A= siftwm: o
A SRS Wi SHRUH

B o3 A I W
c yraTiRaoned R wftroTee
D AR AT TRgf:

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 28 FE1-URISHIHIaH U1 S{eATfis SR: Ul SHFIVRIET TgH 35101 TH BH SHfies: ser sRdlgd Hyafa aq aui Rar Qe uisfibal 7 $di | srefiear i e ?

A Ty T I sifras wiy R Swfig sl

B SHfrTad g I Pl WA SR 7 fory Wg-aie: SIgug: |
c HPPIIEHT UG STET ST BETIRiSET: giHRg R |

D ey I0eg ST HYAly aq A1 SiftrTawiavd i s

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 29 THGI-HAZER A YRAMT 47 Y ST SHRTAHTIRIGURIEH
A HYRUATHUY (Universal grammar)
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FRET finimy WA, B RET WYY eV VAT IV WITTH IV T U WYHITV LY VLIV § = [TV T e § STl T TGNV S VTVl GV A

B quiidgR: (Phonemes)
c 3fidER: (Semantics)
D Sfeasieal: (Complex words)

Correct Ans : A
Subject : Sanskrit Bhasha 02

Q.No: 30 TAT: HEMT: BEIF PRIV faHeld | Teid JTard slegggd (Flash Cards) IaRfY | sA=R @: A @MYdd Ul aq afdg PfExfa | td @ & & waaa?

A mmﬁa»‘annm (Mutual Speaking)
B URWRGYAAETH (Mutual dictation)
C IfRFYIAETH (Group dictation)

D URWRFHYS (Mutual reading)

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 31 Fiag Tl T Wit §:

A ™
™

B

e Rediarfer

D R

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 32 Fafirs T & e MRl & ORI BT & SR ge TIRT wif
A T R oi e &

B Tg wrmRs TRFRRE &) s § Heg o 8

c T wreT=at & ferar §

D T g Fed §

Correct Ans : B
Subject : Hindi Bhasha 01

Q.No: 33 TUA® TR W I8 e § 6 7=

A WY & SN & T &1 I arelt o fafalat & g w0 9 e o)
B T T ifafad g B 3R uRdieT Brf & gexiie BT R BY

c wmrER-w J ot Rl ww, O o e T 9 o1 R g e
D S UIeT-TWS $ Wi WISt &1 ST aR Wbl

Correct Ans : C
Subject : Hindi Bhasha 01

Q.No: 34 Taq Yedid &1 U fRfeary 3-

A T & IS AT BT PR Saciid Sl
B qEt & e et 1 B g SR

C ufafe aivemé ar

D TR e e o

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 35 UGHSHI UR & $ U Rieres 1 33T Bl 8-

A BHE B I &

B Tt Rasor

C IR ST TG

D RiefF FT o9 P § GeHHn urT

Correct Ans : B

Subject : Hindi Bhasha 01

Q.No: 36 = & & Txgfg Uy Ft Ia9 St v @@ §?

A I TF & IW T 2l
B 9P FE SR A B

c I BT g 81

D
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FRET finimy WA, B RET WYY eV VAT IV WITTH IV T U WYHITV LY VLIV § = [TV T e § STl T TGNV S VTVl GV A

T oied! 9H H T oM &1
Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 37 udifém sieme fafd & Rorads diom # Aaa Rivwe 3 fvas fFe & aag o9t @i a9 82

A 60 fre
B 15 fiFe
C 20 e
D 25 fiFe

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 38 =1 & § 'gE Ao R 1eRa T A )
A e

B TR

(o} EISICE

D IS FUA

Correct Ans : C
Subject : Hindi Bhasha 01

Q.No: 39 A mTFs R IR A adifwufpm 71
A R

B S

c faeRu

D TR Td fRERT

Correct Ans : B
Subject : Hindi Bhasha 01

Q.No: 40 4TI T W@ S T §?

A T ST F I WITGT ¥ U AT o yfiyet P §
B YT ST P GATS g B B Bt §

o 7T ST Y It fraRY @ siftveafet R &
D SRigd it

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 41 w=if # diewt § g aren uvragyf uRada SH-91 7= g2

A fTd SRomsT & oRad
B T vt ¥ uRad
C qER uRads

D grefois aRad

Correct Ans : C
Subject : Hindi Bhasha 01

Q.No: 42 FEIN H} FeTl TG 82

A Y

B Sfa-for
c T A

D ufveor &

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 43 SR forfty o forftrdt oot st &gt s

A AP, S T FAHD
B TUHE

c FAD

D WIS

Correct Ans : A
Subject : Hindi Bhasha 01

uTyT AR & U BA-T1 FRS Faifs ARaUU 82
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FRET finimy WA, B RET WYY eV VAT IV WITTH IV T U WYHITV LY VLIV § = [TV T e § STl T TGNV S VTVl GV A

[P

Qs " T e s e
A 18 W R WHRR

B YTST B UIST-GRad

c Srrglitcaeinica

D T & SR Fam

Correct Ans : C
Subject : Hindi Bhasha 01

Q.No: 45 7 ¥ | yaaq Risia o1 dgar 87

A g 1 3R Sraxgdmar 31 9 1

B g 1 R RreRT # ufikad o 1
C e &1 SR AFARIE 9 IR fIeR §
D e 1 SR Haa IR RER §

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

e A 3 T T #Y UgHR gp Y URAl & ad IR IR a1 faded BT 99 BHiforg-

I & TAF FRIGA B SRR U1 Y5g T § N e SuF (o &1 T @t sifterst mge § sifeeta @ 38 71 Al Bl A Iud wu-Fuiu o1 1Res wae i, faeg gar e 3 Afa-Afae
U WA o &) el & ofe T I9H A UF ga 6 IR g F 5@ F FU-FuR0 1 vae Fa1 391 R g ad A 3ud Fu-Fmfon § 06 ofR 3 o) wem $ aela a3 W g & iR 3 95 ey
g, el safad 39 el T argef fava & 5o 979 & fow T o o 8, O B g o firan & i # W &1 SR fad 1 o[ I 81 e —uIe & 3 & favg & g7 3fd W @ @)

Q.No: 46 Iuga e & forg fv & & Sfa e @1 w0 Fifdme-
A ¥ framn & ufty formon e

B I A FE F TG
c TS Tt S
D e o ga

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:
g R fRu 7 iR & UgH} IR T U & G 3R I<R 99 fawed @1 g Sifon-

S F UAF FRIGAN B SIRT a4 Feg T F TR TR 39S P B S St st a7 § sifee § @ ¥ e B ¥ Su wu-Pmin 51 1res wae i, g s de 3 Af-ake
U WA o &) <l # e T I § e 57 7 IR gfa § Fen & FU-FuR0 1 vae a1 351 SR g &d A 3uF Fu-Amn ¥ 76 ok 9fS o wrer ) defa e 3 g g & wHid g5 ey
€, oigl ity 3% i & wad Tyl fivd &) $6 990 $ [T W @ o1 €, T DS G 30+ B & oo A w9 Y SR faza 1 Y& ST 811 W™ —1Ia & IgH $ vy § 9 SR 9 €

Q.No: 47 ITa TelY & AR, R o frem el & e mar ur?

A o gl
B e
C TR @
D i gt

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:

& AN T TT TR B UgH U T TRl 6 9ed 3R IR ard faded &1 99 Pifoe-

Y F UdE SR S SR a1 Gg FU # Tiila Tae) 96 A B S St st 7 § sifewa 8 36 71 Afee Bl 3 39 wu-Fmin a1 wres gad fa, e ga g 3 Afa-Afar
BUI WA o @) <@l # /e Tl I A U@ o a9 IR g & Fen & FU-RuRo @1 vae sxar @1 R g 7d A 9uF wu-Fmo § 76 R gfe @1 wer a dela e 338 gk g & w3 98 ey
g, oIgl cafed 9% oifen & wod wrguf fava &) oo wHg & o T 4o oran 3, T &% g o firar & onfevH & wad &) ol fava 1 | S 811 WgR—uIa & 359 & favg & gz 3fda W @ @)

Q.No: 48 IUY TR & AR, YR F TIF UG FT IR TU1 TG T F =i @R IqF =01 B 974 Bt

A e AT A e ¥ R
B P T3 & ST § I R
c fyemst A F enfdera F & T = R

D ST WS & ST @ @ T @

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

g TR fu 7T TR 31 UgaER P ¢ U & a9 Sfd IR d faded B 99 Bifere-
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FRET finimy WA, B RET WYY eV VAT IV WITTH IV T U WYHITV LY VLIV § = [TV T e § STl T TGNV S VTVl GV A

IR & UAF FRIGAN B IR U Yg T4 § R e 3u% o & S @t sifterst mgw § onfera @ 3@ 31 afRke Bl 7 39w wu-Puin o1 1res v i, faeg gar ek 3 Af-Afae
U WA o ) el # o ) 90 A U@ < 7 IR gfd F S & FU-RuR0 @1 vae S 61 R g gd A 3% Fu-Fmfo ¥ 76 ok g @1 wer a1 9infa e 8 g 5 & w3 98 ey
¥, el fdy I i ¥ ad gyl fad &) $© 99 & R W oF orar 8, A B g oo v 3 onfere A W @1 SR fRa ) 4@ oI @11 [ —e & I8 F vy § 9 Sff o € R

Q.No: 49 Iudad TR F AR, TR G0 I HANG! A g SrHa fan &5 77 Faa Iuar ama @t R @ wwge 7181 3, sfers

A IS I 3R TSN BT W1 38T Bl
B iR 39 @R srrefia gar o e 81
C T TG Y I 3R Mepa B o @1

D T U Y IY SR SR el o 8T B
Correct Ans : B
Subject : Hindi Bhasha 01

Passage:

e R o 7o T ) ggeR g Y Ul F e Sfid SR ar faden #1999 Sifvi-

I & AT BRiGAN B SERIRT U1 g5g T § nRfie Suek 3u% o & 9 ) siftemy age § sfiera 3 3@ 1 ARE B 3 39 wu-Pui o1 iRes wae i, g gar des 3 Af-afe
U U orf &) <l & o T ITH A S 7 a9 9IR g F 5an & FU-RuR $1 vaer Sa1 @1 R g &d A 3uF Fu-fAmfo ¥ 06 ok 93 ) wem & dnfa fan 33 g g & A A 9% oy
¥, oiel fdy I el & Xad rgef fawd &) $o 9g F e W o o §, 7 B g oo v F onfer A W &) SR v Y 4@ oI 11 [ —TIe & I8 F Avg § 9% Sff ww €

Q.No: 50 = & & enRiT &1 31 T B2

A SffEf & W

B T A

c Sf w19 & frg omig
D offg ot SRt

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:
g A feT 7T T @) 9geR O Y Ul & e S SR drd faded &1 99 Sife-

I & UdF FRiGam S SR g geg T § o SeaR Su% o &1 aa 39 st ige § onfieta § 3@ 71 aRke Bl A 39w wu-Puiu 1 1Res wae i, faeg gary diew & AR-afe
BT WA o 3 <l B /e 1) I @ e 0 79 9R g § Fen & FU-RuRo @1 vee a1 ek g ga A SuF Fu-Fmin § 76 R §fS o) wem 3 anla a3 gk 5 & A A 98 oy
g, el e Iud el # ad wrgef faza &) oo g & R ¥ o o &, o) 1S gy o v & onfe A w9 &1 o iR #1 4@ S 911 [W—Ta & IgH & favg § g5 Sfd 9 € 7

Q.No: 51 4= ¥ § 350 &1 fady reg o1 82

A Iafa
B sd
C i

D o

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

R Y U T TR $1 UgHR UP U WAl & a9 3 IR i faded $1 99 Hiforg-

I & Ude FHEGAT S ARG 91 Tog w0 § faxiia Taar I9& g1 1 SIFA Bt ftyarst 37w 7 sifesra 3 36 31 afed Bt ¥ I9% Fu-Fmion &1 1Rus wae T, g gam g 3 “Afa-Afa”
BT AR ord @) <all & ¢ T I A UF o7 9 9K IR A 5@ F FU-RuR0 1 vae Fa1 351 R g &d A 3% Fu-Fmfo ¥ 76 o0k 3 1 wom $ aela i 318 R 5 S w3 g ey
§, Siel afadt Iud Siifeima # o wrgyf favd &) oo gwa & forg ¥ o I B, A 15 GEW Sl fivar & onfei # W ) iR fava &1 3@ i €1 [gW—Ha & I & fava 7 g7 e wa @ 31

Q.No: 52 = & @ ‘gt & wH-f Wfy &2

A smfe;
B o WY
c o1 S
D oy Hfy

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:

e 9 Ry 7T TRiiw & Ugak UR T UL b el SR IR ard Aoy @1 7a Sifie-

IR & TS PG B SR auT g =0  Tfelia TadR 39S g B T @t iftart agw ¥ sifewra § € 31 ARE B 7 39% Tu-Fui &1 wee o fa, g sarw ek 3 Af-Afe
BUI WA o &) <al # e ) I A U@ 5 7 IR IR F 5 & FU-RuR0 1 vae S @1 iR g &d A 3¢ EU-Fmfn § 76 R g @) wer $ aula i 318 g 5 & 5 A 98 ey
T, oI5l oo 9% i & wod argef fava ) oo wHg & R T o o 8, 7 B g o firan & s A ad @1 ol fava Y o S 81 g —u1a & 390 & favg & gz 3fF S @ )

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 10/42
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Q.No: 53 IUYE TN & SFUR quid: T HYA HT TG BIfor-

A U o <t ot 7S de T I A U d a9 SR IR X T P Y-FeiR0r ST 50 FRa7 W67 3R GO &6 A IS TU-Fui § ad ok 9 9 wier S aiivd fan 90 ugd 57 & wiRd Y7
B wri omf <) gl & S M I X U g o R IR Fe F Fu-FufRen S e FRar 6T SR g o 3 Su% wu-fmfn # ab ok 9 9 wew 3t ot R 5wt W g F e Y g
C urE 3 <) el e T I A TP g ab 3R IR ¥ T P FU-Flkur BT 9het S 8T 3R g o Y 39 -l f o ¢k 3 3 wivm -1 Difta e 39 g g9 S weiE Y 9w

D W ol & 7 & e 1 I A TP g o SR T A T & FU-FufRer 1 wae avar 1 R G 3 A S9% U-Fniu § of ok 9% 9 wem 3 ot s ved 5o & wifte d ag
Correct Ans : B
Subject : Hindi Bhasha 01

Passage:

A BN B YgH} TR T Ul & 9a9 SR IR a1t fAded o1 9 Bifi-
@Y, RIRR &1 ga sl
e TRl TR 3 |
H-H &l =,
SRR &, o H,
STA-31 et el |

fagan el &1 3nf- 3|
3fd Rl TR 3T a9 |
T 8 TP @,
GERIRERGA

4R} &1 Wa g,

Fofel foga

¥ a3-3uad fanr-famal
e Rl TR 1T A |
A e st B,
W9 qE WA g,
T HRefl-3R F Tl 34,
G G 81
fommn § ava s

3§ YRl W A1 Fh |

Q.No: 54 TR 3 Rk ‘GR-9 & @ W AR 3 F T 1RM R 2

A o f afd e T R
B ot & g W A}

c Wle wfd T ¥

D WP oIl T §

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

FE: P H IGHER TP T IR F 99 IR ITR A fAwed w1 997 Pife-
@ X, RIRR &1 gan sl
e TRt TR 3T |
- gl T,
Tig-117d, Tef-Treh,
aftrg 8, Fom &,
STA-3Tel et el |

g ol 1 snfe-3ri1
3fd TRl TR 3 g |
& 7 I,
faaeht & g <@,

1R} @1 a1,

e fagw

i a-gua fr-fRem
S Rl TR 1 |

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 11/42
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w7 fah giared B,

WO F 08 R I,
3fF ERA-3R P e 4,
T ¢ G 2
fveRmn § 8

3 Ul T 3 |

Q.No: 55 frfafa # I ‘pafe wea @1 3rf warse-

A HafE
B FEY
C En
D

AR

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

R ST H Tga I T U & Fa9 Siad SoR a1 [ased 1 994 Fifore-

@R, RIRR o1 gan 3l
39 Ul T 1T T |
H-A< gal ql,
TMiq-T17d, TeR-Tre,
aftrr &, $om ¥,
STel-STe el et |

T oRelt 1 STf-
3 R W 3 I9 |
T & T @,
ol @ gori <,

AR &1 7 A,

ol fga =

Bffa F-gua -
e R T T IF |
w7 e shareh 8,
RO & O W A 8,
e tRA-3FR P el 4,
GEK! & GRS 7
fosamn & ua sFwl

3§ YR W Sl 98|

Q.No: 56 IuHad Ty F Gef & a9 g Fg & 15 o B
A auf &g

B RIRR g

c qage Bd

D P kTS

Correct Ans : B

Subject : Hindi Bhasha 01

Passage:

T FIE B UG I U UREl F FEY I SaR ard [dFe &1 999 Hifoie-

@ X, RIRR @1 gan sl
e YRl TR T T |
H-H gl =,
TM7q-T17d, TeR-TTet,
aftree &, o ¥,
TSI el et
g et 1 o1fg-arl

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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SfF TR WX 3T g9 |
FE B D @,
foael @ god <,

R 1 7fia g,
FfR g wh

gfd a1-3ue femr-farmi
3fd tRefl W 3 ggd |
A et gl B,
WO ¥ 0@ W I §,
e tRA1-3FR P el &,
G ¢ G B
foyRman § 3ua sl
e TRl WX 3 g |

Q.No: 57 F=fifEd § § ahiR & ol fbat BIU SR ?

A 6
B
C
D 10

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

A SToaTY B UgER I Y U & 9 I IR A1 fiwed 1 79 Fifere-

@R, RRR &1 g sl
3 R W 3 I9 |
H-H< gl =,
TM7q-T17d, TeR-TTeR,

s &, o H,
S-S Pl el
fagan Rt &1 S1fg-9ri1
e R T T IF |
N § T W,
forael @ gord 3@,

1R &1 i g,
oyl g e

#fifd a-guan fa-fara
e YRl WX 1T |
w7 ot share &,
RO S g@ WA 8,
3d tRAl-3R B el 4,
ggred! § QT B
fommn § ava s

e TRl WY 3T g |

Q.No: 58 f=fRifad i A v arag F sifeaaarasd qdam &1 wdi fear mar 87

A q8 $O T |
B IE TG TR B
c S| AL

D 3 oy A A R

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

A FI B IgER I T URAl & 998 Id IR A fiwed 1 99 sifere-

@R, RRR &1 g sl

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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SfF TR WX 3T g9 |
H-A &l =,
Tig-Td, TeR-TreR,

@ &, gom H,
STA-3Td Pt ell|

fagw ot &1 enfe-ama1
3fd tRefl W 3 ggd |
P & TP I,
el @ gore ¥,

HRY &1 a7,

pafel faga

B -guaH femr-frl
e TRl WX 3 g |
w7 ot ot 3,

W F 9@ W Al 8,
3 URcll-3R B Bel &,
Gl € R 8
fomm § 3y el

3fd R W 3T IH |

Q.No: 59 F=fifEd # § THgaa® I3 g T 947 Bifore-

A wE
B ™
¢ g
D ™

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

A& FIH B UGHR I T URAl F Fad I Iar ard fawes &1 99 Sifve-

@ X, RIRR 31 gen el
e R T T IF |
-7 gl
Ta-T1d, TeR-TTel,
g 7, $or F,
STA-STal et el |

foge «xell @1 enfe-oml
e YRl WX 1T |
G R gD I,
ferrcht & g W@,

1R @1 i g,

Fyfeft fega wh

#ffa a-Suar femr-femmal
e TRl WY 3T g |
w7 foeht afareh 2,

W F I@ R a8,
3fd tRAl-3R B B 3,
GrETeh € G 8
foserman § va sFwl

3 SRl TR 3T |

Q.No: 60 fr=fafad # § go &1 o T 82

A S ymfa g

B ST H e

c g & SHfa
e T =0 P

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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D

Y@ HPIX PIIGINY

Correct Ans : C

Subject : Hindi Bhasha 01

Q.No: 61
2466876

What should come in place of the question mark (?) in the following question?

63-37x3+367-8=2?
frafifEa uy & uyarEs [% (?) & RE R 1 31 ART?
63-37x3+367-8=7?

324

324
311

311

312
316

316

Correct Ans : B

Subject : Mathematics

Q.No: 62
2466932

What should come in place of the question mark (?) in the following question?

24 x 251 x 52 + 652 =7

frafea oy & nyarEs g (7) & RIM W 1 31 ART?
24 x 251 x 52 + 652 = ?
313900

313900
312800

312800
316400

316400
319600

319600

Correct Ans : A

Subject : Mathematics

Q.No: 63
2467166

D

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx

3 1 5 2 2 2
The value of 1 + T35 T 3TsTe Upto3 places of decimals is:

a2 1 5
Wm?ﬁ??ﬂ?ﬁl+m+“5+e

ST O F1d Piferg|

1.454

1.454

1.444

1.444
1.434

1.434
1.424

WYY eV VAT IV WITTH IV T U WYHITV LY VLIV § = [TV T e § STl T TGNV S VTVl GV A
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1.424
Correct Ans : B

Subject : Mathematics

Q.No: 64  Which of the following is not a perfect square?
2467208

Fofafed ¥ § o1t gof o f 78 @2
441

441
324

324
279

279
361

361
Correct Ans : C

Subject : Mathematics

Q.No: 65 1In a month Pinky earns Rs.50000 and saves Rs.35000. Find the ratio of money that she saves to the money she spends.

2467424

& 7g # ff®) 50000 ¥UA HAR 7 R 35000 FUY S §1 IHF GRT GG MY ¢ HT IGS gRT G (9T T 47 § U1 1 Biford|

7:3
A

7:
B

4

5:
C

3:5
D

3:5

Correct Ans : A

Subject : Mathematics

Q.No: 66 If length of a rectangle is halved and breadth is doubled then the area of the rectangle is?

2467567

I U 1Td Ft daTg e FR < Y SR DTS G TR QAT A A FT AFG 1 e

2lb
A

2Ib

4lb
B

4lb

1b
c

1b

5_23
D

g

Correct Ans : C

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 16/42
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Subject : Mathematics

Q.No: 67 If each side of a triangle is doubled, its area becomes k times of the original area, the value of k is:

2467619
o et Ae 3 TS oo B G R o S, o SUET daG HE 8T T k A 81 96T 7, k B AM 3
3
A
3
4
B
4
4\/5
C
42
2V2
D
2v2

Correct Ans : B

Subject : Mathematics

Q.No: 68 The difference between the length and width of a rectangle is 7 cm and the perimeter of the rectangle is 50 cm. What is the area of the rectangle?
2467677

TF 3ad &1 dars 3R e F ofia o7 3R 7 I B ok omad 31 uRfY 50 Wkt 31 smaa &1 dawa & 82
144 em?

144 @i
154 cm?

154 @it?

288 cm?

288 @i’

216 cm?

216 @it
Correct Ans : A

Subject : Mathematics

Q.No: 69 ' The roots of the quadratic equation x* — 11x + 24 = 0 are:
2467705

mmx3—11x+24=0$&?{%z

6,5
A

6,5

3,-8
B

3,-8

-3,-8
c

-3,-8

3,8
D

3,8

Correct Ans : D

Subject : Mathematics

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 17/42
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. . 3,3 . -
QlNo: 70 Solve for x if X x® x 3@ _ (25)5ang a+b =5

x & fAu ga P afq x2*xb?x3aba+d) = (25)25 AM,a+rb=5

2
A

2

3
B

3

1
C

1

0
D

[

Correct Ans : A

Subject : Mathematics

Q.No: 71 The solution of the equations 4x + 6y = 3xy and 8x + 9y = 5xy is given by:

2467787

TifiBRuil 4% + 6y = 3xy 3R 8x + 9y = Sxy DI & GRI [T el &2

x=1y=2
A

x=1y=2

x=2,y=3
B

x=2,y=3

x=1,y=-1
C

x=1y=-1

x=3,y=4
D

x=3,y=4

Correct Ans : D

Subject : Mathematics

Q.No: 72 The angle which is double of its supplementary angle is:

2468199

T 0 S S T B B G R

180°
A

180°

120°
B

120°

90°
C

90°

45°
D

45°

Correct Ans : B

Subject : Mathematics

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 18/42
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Q.No: 73 Teachers should discuss a topic and supplement it with a demonstration to

2468561
Rigrat 1 fordt fawg W 7af &3t 91fee ok 3§ F USRI & WY R HAT FIfgul
understand the concept better
A
SEURTT B FgeR &7 § FAF
bring multiple perspectives into the class
B
e & &S eI
draw student's attention to the things around them
C
faenfifdl @1 e o se-ur @ <o @ SR sefifa aR
to make the maximum use of resources around
D

SHN-UTY & A1 1 Sfpad SUhRT H3 & g

Correct Ans : A

Subject : Mathematics

Q.No: 74 Ifx -2 is a factor of 5x* — kx — 18, then find the value of k.

2469938
e x - 2, 5% - kx — 18 FT TP UATS g, Al k BT TH F1d B
-1
A
-1
1
B
1
1]
C
V]
5
D
5

Correct Ans : B

Subject : Mathematics

QNo: 75 The ratio 225:2°5 is same as:

2473338
225:2051%H HeTd FHATT &2
2:1
A
2:1
4:1
B
4:1
2:3
C
2:3
1:3
D
1:3

Correct Ans : B

Subject : Mathematics

(22;"\'7247967 At the top of bloom’s classification of objectives of cognitive domain is
A & GIAIED S F I & qrffen & W W 7
A skill
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 19/42
Page - 19



FRET finimy WA, B RET WYY eV VAT IV WITTH IV T U WYHITV LY VLIV § = [TV T e § STl T TGNV S VTVl GV A

EQNGH

B evaluation
qAHT
analysis

c
farseror

D synthesns

Correct Ans : B

Subject : Mathematics

Q.No: 77 RCEM approach is used to write the objectives of

2azesat RCEM Riv &1 Wil forras Ieedi ot forany & forg foban siren 82
Congnitive domain
. T
Conative domain
° w2
Affective domain
c sl S
D None of the given options
ferg e farsedt 7 &

Correct Ans : A

Subject : Mathematics

Q.No: 78 In Analytic Method we proceed from

2475623
fazawuers fafy & g9 o wga §
Concrete to abstract
A
e & o o Al
Unknown to known
B
ST & T4 B SR
c Known to Unknown
0§ ST BT 3R
D Particular to general
/9 Bt

Correct Ans : B

Subject : Mathematics

Q.No: 79 Which of the following is true in context of NCF 2005?

2475990
NCF 2005 & g-e # Fufafea # 4 o7 @193 32
The importance of systematic reasoning in Mathematics cannot be overemphasized
A oK H AT a6 & AEA BT ABRI el o Habal
Proof is a process that convinces a sceptical adversary
° s et 2 R o e R Y e e ¥
Precise mathematical communication and unambiguous use of language are important characteristics of mathematical treatment
¢ e R R SR S 1y g TR ST ) e R ¥
D All of the given option
g1y Wit fawer

Correct Ans : D
Subject : Mathematics

Q.No: 80 Which two signs should be interchanged to make the given equation correct?

2479393
18+3-36x4+2=47
fow g wfie &1 w6 T & e 6 < R 1 oo | wgen W e
18+3-36x4+2=47
+ and x

A
+ AR x
+ and +

B
+ 3R+

C + and -

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx

20/42
Page - 20



FRET finimy WA, B RET WYY eV VAT IV WITTH IV T U WYHITV LY VLIV § = [TV T e § STl T TGNV S VTVl GV A

+ and x

+ 3R x

Correct Ans : A

Subject : Mathematics

Q.No: 81 Given interchanges: signs - and x, and numbers 3 and 5; then the value of 3+ 8 +4 x 2-5is

2481020
T U $exa (309 § Sga): g - MR x, IR TSN AR5, A3 +8+4x2-5B A8
1
A
1
-1
B
-1
2
c
2
-2
D
-2

Correct Ans : A

Subject : Mathematics

Q.No: 82 Given interchanges: signs + and +, and numbers 9 and 1; then the valueof 8 + 2 x4 + 9-11s

2481056
{3 MY $exai (omuw B wgan): g + R +, IRT@ ook 1; A8+ 2x4+9-1HAAT
10
A
10
9
B
C
8
7
D
7

Correct Ans : C

Subject : Mathematics

Q.No: 83 Learners should not be encouraged to

2asi748 Rrenffdi @1 R P & e dieated el v ST =feT 9@ @ -
ask as many questions as possible both inside and outside the class
A FeT & R IR TR TURNT 4T F it wy o
actively interact with other learners in group work
° e B & o et & wr wfivg w9 I sraehd e
participate in as many co-curricular activities as possible
c i 3 ot - TR s
D memorize all the answers to questions which the teacher may ask
g g1 g o ara et uell & SR 918

Correct Ans : D

Subject : Mathematics

Q.No: 84  Test meant for prediction on a certain criterion are called?
2482552

s P aFEs W gday & o wderr & o wgl o g2

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 21/42
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A Aptitude test
f wdar

B Intelligence

c Knowledge
3“7{

D Personality

Correct Ans : D

Subject : Mathematics

Q.No: 85  Which of them does not help in keeping mathematics in school curriculum?

2482570
T Q DI TG Y el UIeTHH B A A Aeg ¢ e o7
A It is basis of all sciences
Tg Tt farIel 7 SR
B Language of mathematics is universal
QG R
c It help in running business
Tg G I # Heg BRal §
D It helps in developing mental abilities of the child

g T B AARS gwaIs S RHRE S  Heg Bl €
Correct Ans : C

Subject : Mathematics

Q.No: 86 Who remarked that strategies are broad method of teaching?

2482578
e fewlt 3} o5 oritfoat Rieor 3t e 3y g2

Herbart
A
W
Robert Mager
B "
RECR=U|
c I. k. Davis
D Plato

Correct Ans : C

Subject : Mathematics

Q.No: 87 Prognosis has the administrative function such as

2482594
W F yree S g ¥ o
A Classification
Promotion and gradation of students
B
B BT ¥adH IR T
c Selection
a1
D All of the given option
Rume

Correct Ans : D

Subject : Mathematics

WY eV VAT TG IV T U IV DY VLIV TG § = 17TV

i

W LLIRE BRAGAE TRrBES T IR T AW W | T M Dt T W U alndps S

Q.No: 88 When the teacher creates problematic situation in front of students while creating the appropriate situation student’s interest and abilities should be given due importance. It n

e Rigrd Iuga TRRUR &1 Fafor 73 gu BnE! & Ima IrenRa R Ue F=ar & o oF 3 3 o) emaish 3 Sfa wew far s aftt) et Aqae @ 5 o PR FR @ R

2482681
Create the situation for project work
. okl @ org Ry e e & g
Proposing and creating the project
? IREISH T T AR i
Planning the project
¢ oo o T
None of the given options
D

fou u feedl & & @ T

Correct Ans : A

Subject : Mathematics

Q.No: 89 B.S. Bloom classified cognitive domain in

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 22/42
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2482783 .UH. <H A YIAS SHA P ... 7 grifpa faman|

6 areas
A

687

8 areas
B

8 &3

4 areas
c

487
D 10 areas

10 &4

Correct Ans : A

Subject : Mathematics

Q.No: 90 Answer the question by selecting the correct/most appropriate option.
2482797

Choose the correct statement for the given data below:

I 0.02 I 1.54| 0.74 I 7.24 | 5.37| 2.04 | 1.39 | 2.47| 0.28 | 6.35 l

UL/ IUYEd [aded &1 9u T (Eiirad usi & I o)
R few g st & g wE B &1 =T S

I 0.02 | 1.54 ‘ 0.74 l 7.24 | 5.37| 2.04 | 1.39 | 2.47| 0.28 | 6.35 I

4 numbers lie between 1.5 and 5.5

A 49Tt 1.5 IR5.5F €

2 numbers lie between -1 and 1
° 2¥em -1 IR 1 FATE

5 numbers lie between 2 and 7
¢ s¥Em 2R 7 FAEE
D All of the given option

g Mg @it faeg

Correct Ans : A

Subject : Mathematics

Q.No: 91 Several developmental activities on the hydrosphere by the human may cause:
2469334

TAHST W AHd §RI $3 [Aeraers Tafafidl & SR g1 9l g

Soil erosion

A

el 3RET

Water pollution
B

SIeT Hem U

Soil pollution
c

o wgor

Land pollution
D

f¥ g
Correct Ans : B

Subject : Environmental Study

Q.No: 92 Which of the following is an extinct species?

2469499
Proffad 3 3 B @ fge v 2
Snow leopards
A
R dg
Sea Lion
B
T R
C Blue whale
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R

Dodo

SIS

Correct Ans : D

Subject : Environmental Study

Q.No: 93 Not a commercial crop-

2470110
RS B e o-
Cotton
A
i
Jute
B
¥
Tabacco
C
TR
Maize
D
Recca

Correct Ans : D

Subject : Environmental Study

Q.No: 94 Common energy source in Indian village is-

2470125
YReltg wmior & 3 R el A 8-
Electricity
A
Coal
B
Eap)|
Sun
C
Wood and animal dung
D

THE! AR TR Bt e

Correct Ans : D

Subject : Environmental Study

Q.No: 95  An active environmental studies classroom motivates the learners

2470510
U Wity gaiarur ieaqeH &t we St wafell & IRkd et §
keep discussions to a minimum
A
Tt B <A T
focus on textbook reading
B
IoUgES & TS R B 1
listening to lectures and relying on what is shared
Cc
TR Y G AR W 5T M W R
Be a participant in a challenging project
D

g ke ¥ ynfier s
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Correct Ans : D

Subject : Environmental Study

Q.No: 96 Mission which consists of Gandhiji's spectacles logo and the slogan, Ek Kadam Swachhata Ki Aur is;
2470639

o R ol & <@ &7 Al o) AR R, TP Fen Wwwdl Bl SR B

Swachh Bharat Mission

A

WO YRd A

Nirmalata Abhiyan
B

e st

Total saniatation campaign
C

el W= st

Sashakta Baharat Mission
D

IRIG HRA FRe
Correct Ans : A

Subject : Environmental Study

Q.No: 97  According to Falkan Mark, water stress occurs when;

2471975

Bleh b B AHTER, U B $H aa g1 & II;

water availability is less than 1000 cubic meter per person per day
A

Ut # e 1000 FRS WX W A R RT e R

There is no water scarcity
B

urft &t B T T R

There is flood
C

G &

Water availability is more than 1000 cubic meter per person per day
D

orft @t Sy vl safd oy R 1000 wfaw Hiex F o1t 1
Correct Ans : A

Subject : Environmental Study

Q.No: 98  Who initiated Pani Panchayat movement?

2472129
ol T Siidier a7 YR R afl-
Vilasrrao Solunkhe
A
[ERIEHCRS i)
Manohar Das
B
AR GRY
Alma Ruia
c
HeHT =T
Rajendra Singh
D

o R
Correct Ans : A

Subject : Environmental Study

Q.No: 99 Secondary treatment of polluted water removes how much percent of the BOD?
2472176
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e 5 & fedias STER | BOD &1 fra o w1 fAea o 22

85 percent
A

85 JioRI

30 percent
B

30 wfor

50 percent
C

50 i

42 percent
D

42 vfowa

Correct Ans : A

Subject : Environmental Study

Q.No: 100 What is the rank of India in terms of water availability per person p.a in the world is

2472296

fay # vfa cafda wfa af ot &t Sucer & AW § WRd 31 RIA g

111th
A

11140

131st
B

13140

132nd
C

132490

133rd
D

1334

Correct Ans : D

Subject : Environmental Study

Q.No: 101 Which of the following factor diminishing as food chain proceeds?

2472701
I A A 3 9 PRS T G D S 9gH F I 87
Pressure
A
EEIE]
Energy
B
Sl
Nutrition
C
Greor
Temperature
D
aq

Correct Ans : B

Subject : Environmental Study

Q.No: 102 Sucrose is commonly referred to as
2472923

FHI B AR W 5 &9 & ST S 21
Salt

N
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B Carbohydrate
PrElerRSe
Sugar

C
T
Glucose

D
@

Correct Ans : C

Subject : Environmental Study

Q.No: 103 How many countries are in collaboration with DRDO?

2474041

DRDO & W1y Tgant # fasa &1 g2

30+
A

30+

55+
B

55+

80+
c

80+

100+
D

100+

Correct Ans : C

Subject : Environmental Study

Q.No: 104 In which of the following missions the “Pragyan” robotic vehicle was used?

2474198
Frafefed # 4 fog g & e Aeifes g o1 Iudi fbar 41
Mangalyaan
A
T
Chandrayaan 2
B
= 2
Chandrayaan 1
c
=5 1
Shukrayaan
D
oA

Correct Ans : B

Subject : Environmental Study

Q.No: 105 Which of the following is categorised as a minor planet in our solar system?

2474247
Frafifed & 4 &3 gaR 9K Hea A b oY 98 & v 7 @iiepd b mn 82
Mars
A
A T8
Venus
B
R
[ Eris
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LS

Jupiter

gewa

Correct Ans : C

Subject : Environmental Study

Q.No: 106 How many national-level seed corporations do we have presently in India?

2475762
HRA # IEAF F TR U o g 'R F i e §2
2
A
2
5
B
5
7
c
7
9
D
9

Correct Ans : A

Subject : Environmental Study

Q.No: 107 Kargil Smriti Divas is celebrated on which date?

2476429
FRMT Wi Raw Fa aria 3 wam s g2
24th July

A
24 e
27th July

B
27 A
25th July

C
25 YA
26th July

D
26 JaE

Correct Ans : D

Subject : Environmental Study

Q.No: 108 Which of the following states organise the Shrawani Mela?

2476431
i & 9 357 o o7 gt f SRRE B 87
Tamil Nadu
A
g
Gujarat
B
oI
Haryana
C
i
Jharkhand
D
IRES

Correct Ans : D
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Subject : Environmental Study

Q.No: 109 Which among the following is regarded as the ‘Birthplace of Mallakhamb'?

2476449

Frafafea # F 58 Teaed 1 SFARIA' AFT S 82

Bhopal
A

sfare

Nashik
B

RIB

Mumbai
C

58]

Raipur
D

TR

Correct Ans : B

Subject : Environmental Study

Q.No: 110 Where is the 2022 Olympics organised?
2476458

2022 3Ncifie o1 rEeE Sl far g
China

Eul

Netherlands

Hexdts

Bermuda

RSl
England

Correct Ans : A

Subject : Environmental Study

Q.No: 111 Which player is associated with Golf?
2476527

e @ for faanst &1 ey 82
Rafeal Nadal
A
T TSA
Rory Mcliroy
B
A ARRTa
CIiff Allison
C
T Tt
Danial Vitorri
D

e ek

Correct Ans : B

Subject : Environmental Study

Q.No: 112 Which among the following is celebrated on 5th December along with World Soil Day?

2476632
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5 RdisR @1 fay wer Raw & wry Fufif@a A & @ 7em o g2
World Aids day

A
fay ogw femw
International Volunteer Day for Economic and Social Development
B
anfies ot SRR @ Ry siaeigiy wid fRaw
World Flag Day
C
fay et RRaw
World Tea Day
D

fay = Reaw

Correct Ans : B

Subject : Environmental Study

Q.No: 113 In which of the following methods do students work in an artificial atmosphere?

2477185

Fofafea ¥ 3 fra Al & o 3w aaee ¥ 6 #d §?

Experimental
A

T

Confidential
B

I

Retention
C

AR

Role playing
D

Yt e

Correct Ans : D

Subject : Environmental Study

Q.No: 114 In an organised field trip of “Plant study” students be able to do the following:
2477334

1.0bserve the differences in shape, size, and patterns of leaves

2.1dentify a few of the familiar plants by their names

Choose the correct code

el & ST @1 T Wfed A AU § o fafifea S s 7S wem g
1. Rl & Y, PR IR Yo & ofaR &

2. 9 RRG el A I9% T ¥ ggar

@ B T

1 only

a1
2 only

Fad 2
both 1 and 2

Ml 1 ek 2

neither 1 nor 2

TA1LARTE 2

Correct Ans : C

Subject : Environmental Study
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Q.No: 115 A preliminary visit to the proposed place of visit helps in respect of.

2477338
T URPE arT e e weE FEdl 8
Revise or modify the goals for the visit
A
T & g S et Y Sxa a1 waed B |
Challenge yourself
B
O 3T Y AR S H
Take students in risky environment
C
BT P SR R AR H & S H
Read books
D
fopaTel TG ¥ Heg TRar §

Correct Ans : A

Subject : Environmental Study

Q.No: 116 Which one of the following is not a long-term result of global warming?

2477880
Fafafea & & o9 w1 wea aiffr a1 e aiom T8 §2
melting of polar ice
A
ydtg s BT e
coastal flooding
B
YR A G
decrease in temperature
C
A & fRae
extinction of various plant and animal species
D

faftr eit iR SIFERT Y vt b et €T

Correct Ans : C

Subject : Environmental Study

Q.No: 117 Which of the following conferences takes place every year with the aim of taking resolutions to fight against Global Warming?
2477881

e Tt & fEare aet & g e a1 & 3iwa 3 R 9 Fafofea ¥ ¥ o1 w1 wwed da 82

United Nations General Assembly Meeting

A

YT Y AETEHT P F5F

United Nations Conference on Sustainable Development
B

Had o W g Y e

United Nations Climate Change Conferences
C

g Y Faarg URad SEe

United Nations Conference on the Human Environment
D

HIE TaiaR TR g5 IF T
Correct Ans : C

Subject : Environmental Study

Q.No: 118 CCE has been recommended to -

2478578
1.Reduce the stress and anxiety of children
2.Enhance learning to help children progress

Choose the correct code -
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i it R A 1€ 3 -
189 & 79 R i 3 $9 A F e
2.3 # 3fg aIe s &5t wnifd B HeE F F R

el e I -
Only 1

Fad 1
Only 2

Fad 2
Both 1 and 2

grf 1 8l 2
Neither 1 nor 2

FA1LARTA2

Correct Ans : C

Subject : Environmental Study

Q.No: 119 Which of the following can NOT be a criterion for Rubrics?

2478674
Frafif@a # § &9 wfe $ Rt 7rds T 8 awd 22
Identification of the problems
A
wHes B g
Neatness
B
Tl
Data collection
c
3fies Togl Hel
Drawing conclusion
D

e fraraT

Correct Ans : B

Subject : Environmental Study

Q.No: 120 means evaluation of performance of learners should be done frequently at the end of every unit or term.
2478718

1 3 § 5 vl 3rs a1 Sl & o H Ruenfidl & e &1 gwaien aR-aR far amn afew

Placement Evaluation

A
R Helid
Formative Evaluation
B
IS HedipT
Executive Evaluation
C
PG qFaieT
Periodicity Evaluation
D

el g
Correct Ans : D

Subject : Environmental Study

Q.No: 121 Which is the organ that is not essential in the development of language or vocabulary?
2473618
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HTT 1 Wsalach & e & i fm § § $1H-11 S siaws 8 82

Teeth
A

g

Tounge
B

sy

Lips
C

e

Eyes
D

it

Correct Ans : D

Subject : Child Developement

Q.No: 122 Which of the following is law of Heredity -

2473660
9 & oF-u1 Jen 31 e -
Law of effect
A
R %1 Fraw
Law of Exercise
B
ATy 1 FEm
Law of Readiness
C
e 1
Law of continuity of Germ Cell
D

49 BIY B FReaRar &1 Fam

Correct Ans : D

Subject : Child Developement

Q.No: 123 Which of the following is not suitable technique used by teachers for socializing the child?
2473711

TIIHT BT TANIG FR P R RIewl gRI WG ao-ie Y & § FH-3 Iuged 7§ -

Over protection

A
Jfer HRafor
Democratic discipline
B
SIS SR
Direct teaching
o
e fRuegor
Identification
D

R
Correct Ans : A

Subject : Child Developement

Q.No: 124 Assessment for learning takes into account the following except
2474308

P BIS 3T W & f&T1 oIl &1

needs of students

B B T
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B mistakes of students
Bl B @
learning styles of students
C
BTl 3t g Jeht
strengths of students
D

B! Bt Aol
Correct Ans : A

Subject : Child Developement

Q.No: 125 Match and choose the types of pre schools?

2474438
Column | Column 2
1. Nursery school a. Nursery schools attached to Home Science department of
universitics
2. Balwadi b. Pre school in India
3. Angunmadi c. Pre school providing a structured environment
4. Laboratory nursery d. Pre school in rural area
school
5. Montessori school c. Basic institution through which the ICDS is carried out
school
1t Tl & THR BT ARG BN iR FHDT 997 HIorg?
FIAA 1 FiaA 2
1. T = a. Rnafiggreat & 77 fam R @ o a0 =
2. Trar b. ¥Ra # widren Regmew
3. T . U&F WITAASE TRIE0T Wi & arar wfden fag@mew
4. ganmTET T d. I & F wifhnen ==
5. AREY THS c. qfardy wewn s #aw & € A ICDS frar Fmam
1-d, 2-e, 3-a, 4-b, 5-c
A
1-d, 2-e, 3-a, 4-b, 5-c
1-e, 2-d, 3-b, 4-c, 5-a
B
1-e, 2-d, 3-b, 4-¢, 5-a
1-b, 2-d, 3-e, 4-a, 5-c
C
1-b, 2-d, 3-e, 4-a, 5-c
1-c, 2-e, 3-d, 4-b, 5-c
D

1-c, 2-e, 3-d, 4-b, 5-c
Correct Ans : C

Subject : Child Developement

Q.No: 126 The group of philosophers who call themselves is reconstructionist:

2474578

T B qARHvE Bea are el & qag o1 9 AR §

Recommend progressive education of the only approach for the reconstruction of the society
A

A & g & R wrafoia Rien & goum @Rt ot R s

Object to progressive education as the only approach for the reconstruction of the society.
B

Tu & AT & R yfasie Rt & Team e o1 Ry

Object to utopian view of the education and blindly support the status quo approach
C

e ¥ sirefardt =@ B Ry ok gk eRw o1 sife ¥g F=a wmedT

Think that the present is more important than the insure for reconstructing the society
D

T & QAR & R e @ R ofie wea @

Correct Ans : D

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 34/42
Page - 34



FRET finimy WA, B RET WYY eV VAT IV WITTH IV T U WYHITV LY VLIV § = [TV T e § STl T TGNV S VTVl GV A

Subject : Child Developement

Q.No: 127 Which of the following is a risk factor, occurring postnatal, associated with high incidence disabilities in children?

2475477
Fofafdd § 3 o1 W W RS 2, S 70d & 9% 99 9, g9 § 9 el fAisanTar 3 991 82
Cerebral trauma
A
A e
Maternal infection
B
Hera THRE
Chromosomal abnormality
G
IR ST
Exposure to radiation
D

e & g TR

Correct Ans : A

Subject : Child Developement

Q.No: 128 Which of the statement is incorrect?

2476191

T8 § PH-W B Ted 82

A wanted and sought after child develops a more positive self-image/jpg than a child who is not wanted or rejected by others
A

T gifd SR T0aT S 94 = B gor # S WeRIeTE T B ReRid eedl § R qERl g Sy a1 SRdieT wEar §

A great deal of implicit learning takes place as far as social development of child is concerned
B

Vel 7 I & AT Rer o1 gy §, T gga 3 Rieo Ada 9 &

Children brought up in autocratic environment are more friendly and understanding than those being under democratic discipline
C

T AR H TA-9¢ T Qi SR A e arat @ gar # e R SR 9 o 8

Social status of family affects the social behavior of a child
D

IRER @ g RUT I F TG qeR S Il SRl @

Correct Ans : C

Subject : Child Developement

Q.No: 129 Mental retardation is indicated by

2476380
1. An IQ score of 70 or less
2. A deficiency in age-appropriate adaptive behavior occurring before age 18
AR e R a1 i @t o 87
1. 70 U1 IHA HH BT 1Q TR
2. 18 T T 31 Y TEA T AR S1Y-ITIH SFeh AR F Tl
Only 1 is correct
A
Faw 1w
Only 2 is correct
B
Faa 2 W
Both 1 and 2 is correct
Cc
1R 23R R
Neither 1 nor 2
D

Ad1LARTEH 2

Correct Ans : C
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Subject : Child Developement

Q.No: 130 Which of the following is not a common extrinsic motivator?

2476935
Frafifea # 4 31t 9 SRl RS T 82
Money
A
o1
Grades
B
I
Emotional pleasure
Cc
HAAAD HHE
Fear of others opinions
D

TR B I BT

Correct Ans : C

Subject : Child Developement

Q.No: 131 X is a 12 year old boy who wants to be a cricketer. However, he gets no support from his family, who wants him to be a doctor. X’s talent is recognised by his school sports tea
2477034 |earning in this case?

X TF 12 TTdl &1 TSHT & Sl fhdpex a1 aTgal 81 BTaliidr, S 30 IRaR § $15 g0 et firaar 8, ol 9184 & & 98 U SiaeR a1 X 31 0l &1 39 50 & Qo ed GRT Uga o §

Goal of X and his teacher

A
X P ISR I6S e
Goal of X and his parents
B
X 1 76T 3R IGP Arell-forer
X’s parents and his teacher
C
X & Tl-fiar 3R Iu% fed
Goal of X, his teacher and his parents
D

X 1 967, S e AR 9B Ar-frar

Correct Ans : D

Subject : Child Developement

Q.No: 132 Which of the following is first school of child?

2477582
Frafifed & § SH-91 9= 31 Teeh e 82
Family
A
aRErR
Society
B
HqHS
Environment
C
TafaRor
School
D
*d

Correct Ans : A
Subject : Child Developement

Q.No: 133 Mis a girl child who finds it difficult to solve the mathematical problems. Which of the following actions the teacher should take to support her to overcome the problem?
2478073
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M T Tiferet § o iRt Sreansll &1 g0 oX 8§ B3I ghil ¢ | 99l 31 R B & o g 3 Fafaied § 3§ o1 @ $ras s AR

The teacher should show her the performance of other students in the class to pressurize her to perform better.

A
ey 1 I et & 37 B & FgR AT B RGP FaY ga1a ST oY
Her weakness in mathematics may be brought to the notice of her parents
B
T # TP FHOIN BT SUS A~ & & H AR S AeY
She should be rebuked for her failure to perform better
C
AER U H H fawerar & g 9§ Beapr @ S ey
The teacher should sit by her side and support her to solve the problem
D

Rigis Bl YD T H I5IR THW B 5 B SHHT YT H1 R

Correct Ans : D
Subject : Child Developement

Q.No: 134 The services of which of the following professionals is NOT required in the Inclusive education system?

2478090
et e voel # Prafafea 7 3 few O9a ) Jarelt @1 srazaesar 7@ 82
Clinical psychologists
A
Tl e
Anaesthetists
B
TR
Physiotherapists
C
e Rfee
Audiologists
D
Sifsarifore

Correct Ans : B

Subject : Child Developement

Q.No: 135 Which of the following statements is NOT correct about Slow Learners?

2478361
o e el & IR # Ffifea § 3 o1 9 Sy 98 T8 87
They are slow in all kinds of academic work
A
It v & Jeifdre HEl A M ET T
They generally get poor marks in the assessment
B
F AR R YU § TR 3P [ B §
They do not have the ability to do all kinds of work
C
T R T F I A B & T TR
They are slightly below average learners
D

3 Jivra Rienffelt @ e B §

Correct Ans : C

Subject : Child Developement

Q.No: 136 The Law of Independent Assortment is defined as
2478877

TR & (a0 ) 39 TeR aRuia fea T §:

A Diploid organism passes a randomly selected allele for a trait to its offspring, such that the offspring receives one allele from each parent.
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feor ol st Tart & o v faivar & R v gefRe WU ¥ g Tdid o aRar 8, SR A 3 ude aar-far I e Tl e S 81

When two alleles of an inherited pair is heterozygous and then, the allele that is expressed is dominant whereas the allele that is not expressed is recessive.

B
va U v 3 et gt & < wefter st €9 € iR R, s e T weitar g g & el St oot s e R S @ 9 TR g
The allele a gamete receives for one gene does not influence the allele received for another gene.
C
T o & T T g ) I Uelta gk o & R e welte @Y wafda i s 21
System of thought maintains that everything that exists in nature has a certain cause.
D

fER woreht &1 e § 5wl F g R G @1 @ A SRS
Correct Ans : C

Subject : Child Developement

Q.No: 137 Which of the following activity is more important for socialisation among peers during adolescence?

2478997
fpiRTaR & IR W & ot grrofieRl & fow Pafaf@d 3 & o9 @ 1l sfte meag 82
Academic activities
A
Riegr-wat iafafat
Family background
B
e gy
Non-academic Activities
C
- Feffores fafafrat
Teachers
D
R

Correct Ans : C

Subject : Child Developement

Q.No: 138 With regards to the Pavlov’s Classical Conditioning theory, which of the following is NOT TRUE?

2479222
UIadd ¥ AR SR Rl ey A, o § o9 @ v @ 3
Timing of reinforcement is important.
A
T 1 9T HewY B
It has been observed that the first few trials of the conditioning experiment are of special importance.
B
Tg 2T T ¥ b IR Wi & ued o e iy wew F g
The major bulk of acquisition occurs during the later period.
C
e 1 91 o a1E Bt 3@ty F RM T 31
A plateau may be seen in the learning curve during the later trials.
D

e F Tteull F ERM FE I e H Uh USR 4T o 99 ¢

Correct Ans : C

Subject : Child Developement

Q.No: 139 Punishment/Obedience orientation indicates

2479297
FelT / 3T JfafaearT SR axar &
Preconventional level morality
A
d-uRuRe wR 9 Afawar
Conventional level morality
B
IRURS "R F Afaesar
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C Ordinary level morality

T &R F Afwar

Principled level morality

Jgifts wR I A
Correct Ans : A
Subject : Child Developement

Q.No: 140 According to Rabindranath Tagore, education should be given
2479651

i BTgR & TR e & o =iy
In one’s mother tongue.
A
et @5t wrqaTe
In all languages
B
ot it &
In at least more than two languages.
C
FHASA A Y P Hrors &
In formal English
D

Suaie el &
Correct Ans : A

Subject : Child Developement

Q.No: 141 What is another term for linguistic intelligence?
2479904

g S & T 0o ofR W A ©?

Bodily

RIS

Interpersonal

URERE

Spatial

e

Natural

Correct Ans : A

Subject : Child Developement

Q.No: 142 which of the following is not a psychosocial aspect of Motivational need?

2479915
fFrafiea & @ B iR saxasma B AARIEIRG TgY TE 82
Need for Achievement
A
T Y SMawesdl
Need for Acceptance
B
wipfa #t sraxaemar
Role of Power
G
e fmys
D Thirst
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o™
Correct Ans : D

Subject : Child Developement

Q.No: 143 are primarily learned from the individual’s interactions with the various environmental factors.
2479923

7@ ¥ ¥ fafts waiavit sRe! & 91y wafdd ot siafrast & diar o 31

Physiological motives

A
RRfpaES HRERE
Psychological Motives
B
TS HfiRe
Psychic Motives
C
AR SRS
Psychosocial motives
D

TR HHOE
Correct Ans : D

Subject : Child Developement

Q.No: 144 Sam has taken admission into new school and is trying to make friends. This comes under which ecosystem of social development?
2480164

9 7 70 T v R @ IR S T 3 BRI W ¥e 31 7 A e & e e & siwfa s @2

Microsystem
A

TEPIREH

Macrosystem
B

TriRren

Mesosystem
C

TiRred

Chromosystem
D

PR

Correct Ans : C

Subject : Child Developement

Q.No: 145 In which of the following period do the cognitive abilities such as synthesis and evaluation begin?

2480369
iR 3 fg o & Jxawe ok Heaie SRi GHFTED Tt IR gl 87
Sensorimotor
A
Had-mifes
Preoperational
B
w-dfrae®
Concrete operations
C
7 Sipaee
Formal operations
D

ok wfFaes
Correct Ans : D

Subject : Child Developement

Q.No: 146 What is the feature of a mentaly healthy teacher?
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2480615
THRE U Y TR HeATS P ALwar 7 22
He is ballanced in senses
A
g WIS T J I §
He has deep knowledge of his subject
B
I T g 1 e I §
He is very sensitive
C
T3 S HaeTea §
He loves strict discipline
D

TE T I T §
Correct Ans : A
Subject : Child Developement

Q.No: 147 Which method is called as passive method of teaching?
2480858

forar fafy o1 Raror &) fSpa fafy et o 22
Discussion method
A
Rt fafy
Role play
B
Picakageuinf
Lecture method
C
e fafy
Conversation method
D

Fare fafy
Correct Ans : C
Subject : Child Developement

Q.No: 148 Reflexes, Primary, Secondary, Tertiary Circular reactions and Early representational thoughts are sub stage of which stage of Piaget’s theory:

wioad, mfties, fdias, Tlias ot sfafiang ok omfie wfififte far, e & s & 59 =0 F Su-ww §:

2482181
Sensorimotor stage
A
T/ IS U
Preoperational stage
B
4 fiearEes =R
Concrete operational stage
C
7§ S o
Formal operational stage
D

Ny Hfares o7
Correct Ans : A

Subject : Child Developement

Q.No: 149 The concept people have of ‘who’ and ‘what’ they are, is known as:

2482188

T 3 @ B B SR T B IGURN, Foar!

A Self esteem
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I wfas

Real Self Concept

B
IRefde @ YR
Ideal Self Concept
C
et % @R
Social recognition
D

arifeTe FRar

Correct Ans : B

Subject : Child Developement

Q.No: 150 The first stage of learning in which the individual learns what is required in the task and certain specific components of the task is known as:
2482227

SHRTH BT 95 UgEH SR T FEATH § R fd g8 Tl § S H 1 A § R I & $o ARy vew 7 §?

Cognitive stage

A
IS ST
Association stage

B
e (TRIRTRI) e
Automation stage

C
XqAIe ST
Realistic stage

D

qyrfardt s

Correct Ans : A

Subject : Child Developement
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